DHOEE FIHiNY TU—T 8

AH20H(L) =5 B EEAT—~ A4H20H(L) =15 B EEBI—~
HAEHE FAtaESR| =¥ TO MC HApaHE FAtARSRl| Z=H TO MC
a15S | AfS | BEMB #E | £  [ARE
BEMB vs TIXRE | 10:40 | Z1Y fIAE vs ELKS 10:40| 1%
DIXANDIXRNERMB ELKS | ELKS BIR#
EB vs 4ES [13:00] Zy JBCH—IR vs &BE 13:00| ZIH
185 185 A1ES JBCA—LZ|IBCH—LR E=
BEMB vs  ARES | 15:20| 21H FIAE s £= 15:20 | 2
A821H(H) =% B EEAT—~ AH218H(H) =15 B EEBI—~
HAaHE FtAESR| Z=F TO MC HApaHE FatARERl| Z=H TO MC
JIRN|DIAN| EEF ELKS | ELKS JBCAH-12
BEMB vs  EE 10:20 | &1 FIZE  vs JBCA—ILX|[10:20 | 2
BEMBEEMB| K% R A0 | BRIAJE  JBCH—ILX
JIZA~ vs AES | 12:40| ZIH ELKS vs = 12:40 | 21X
a#ES | atdsS | VIR 3= £= ELKS
JIRAL vs ki 15:00 | Z1H ELKS vs JBCAH—ILX|15:00| =X

FATOVYEEMB| DI E%F | ARES (B &| IEfI zFBIOVY| AR | ELKS [mor-vz| #£8 (B & IBAL
JAEMB 55 O 33 550 3012 - 0 Ra] R 38 O 35 24 @ 63|71 - 1
TR [33 @ 55 0 -1 ELKS [35 @ 38 0 -1

kg 30 1711 - 0 JBCH—ILX 410 4|1 - 0
aES |s0 @ ss 17 @ 34 0 -2 2= |63 0 24 40 @ 41 1 - 1




